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3 HHome % i¢Visiting ¢ i (10) o g% IMP pEVP = 8 VP ke F -4 RB:1 ~T7 t4% R3: 8~ 14 &4%
B | 54 ;3 |1 %4 R ER; 3| RV EN; | BV ENY BV AMH|ERV# % | BE 34 AP COP | # % | Ff%C [} 34 ®VP Cop
1 R 4 e 10 23 17 | 12.18 | 7.82 37.175 14.34 4 |13 |1 |13 iR 51.88 8 | 2 VA 27.20
2 LY 6 BN i) 10 15 29 5.46 | 14.54 27.20 46.48 8 2 2 | 6 BN 46.48 9 | 7 Cyclops 26.00
3 Oceans 7 Cyclops 10 44 0 19.66 | 0.34 40.83 26.00 3 9 3 3 Oceans 40.83 10 | 5 Woods 25.80
Ay Challenge
5 Woods 9 | AtEER=E | 10 19 6 14.28 | 5.72 25.80 13.78 10 (14 |4 |1 £ 39 37.75 11 | 11 Madam 24.47
8 =3 13 B 10 15 32 4.71 |15.29 30.84 51.88 6 1 5 |12 A 34.39 12 | 10 | Dragonite 19.79
10 Dragonite 12 A 10 5 26 3.82 |16.18 19.79 34.39 12 | 5 6 |8 Ui 30.84 13 | 4 & 14.34
Challenge A

1" Madan 14 Catchall 10 14 24 6.57 |13.43 24.47 29.32 11 [ 7 7 |14 Catchall 29.32 14 |9 AlEER=E | 13.78




